Division par 0,01 (F)

Trouvez chaque quotient.

45 +- 0,01 = 79 - 0,01 =
8+0,01= 93 +0,01 =
14 = 0,01 = 40 - 0,01 =
31+0,01= 61+ 0,01 =
1+0,01= 25+0,01=
99 - 0,01 = 26 +0,01 =
64 +~ 0,01 = 17 +-0,01 =
58 - 0,01 = 63+ 0,01 =
32 +0,01 = 40 - 0,01 =
32 +0,01 = 94 - 0,01 =
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Division par 0,01 (F) Solutions

45+ 0,01 =4500

8-+ 0,01 =800

14 +0,01 =1 400

31+0,01=3100

1+0,01=100

99 +- 0,01 =9900

64 + 0,01 =6400

58 - 0,01 =5800

32+0,01=3200

32+0,01=3200

Trouvez chaque quotient.

79+ 0,01 =7900

93 +0,01=9300

40+ 0,01 =4000

61 +0,01=6100

25-+0,01=2500

26 +0,01=2600

17+0,01=1700

63+ 0,01 =6 300

40 +- 0,01 =4000

94 +- 0,01 =9400
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